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Part A: Vocabulary and Grammar

Directions: Choose the number of the answer (1), (2), (3), or (4) that best completes the sentence.
Then mark your choice on your answer sheet.

1-  Governments usually —----- freedom of movement into and out of the country in time of
war.
1) detect 2) induce 3) restrict 4) simulate

2-  You can only come on the school trip if your parents give their written —---—---- :
1) device 2) consent 3) criterion 4) inclination

3-  The government -------- - that the buildings would not be redeveloped in the historical parts of
the town.
1) tackled 2) confronted 3) committed 4) undertook

4-  She intends to -—---—- - a medical career, but her father would like her to study law.
1) engage 2) resolve 3) aspire 4) pursue

5-  Students can be expelled at the ——-------- of the head teacher, and they cannot return to school
within a year after expulsion.
1) foresight 2) judgement 3) alternative 4) discretion

6-  The war would have ended if the enemy planes had not ---------- the cease-fire agreement.
1) violated 2) enforced 3) exceeded 4) attributed

7-  Maths is a(n) -------- -- part of the school curriculum almost anywhere in the world.
1) eventual 2) intrinsic 3) concurrent 4) simultaneous

8-  Hesaid that if the annual floods got ----—-—-- worse they would have to leave the area.
1) any 2) more 3) very 4) enough

9-  They asked the students not -——-------- in the building once they had finished the test.
1) stay 2) stayed 3) to stay 4) staying

10- He had two of his teeth ——eeeeu- at the dentist's round the corner.
1) extract 2) extracted 3) extracting 4) were extracted
Part B: Cloze Test
Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each
blank. Then mark your choice on your answer sheet.
Two sailors were missing at sea after two Greek-flagged ships (11) --------—- off the western coast of
Turkey and one of them sank. Ten sailors (12) ---------- board the sailing ship were rescued. The Pel
Mariner sank after it hit the Pel Ranger (13) -------—- seven miles off Turkey's western coast.
Anatolian news agency quoted officials (14) ---------- heavy fog could have played a part in the
accident (15) ----==--- - the Dardanelles Strait.

11- 1) collided 2) colliding 3) that collided 4) were collided

12- 1)in 2) on 3) over 4) above

13- 1)all 2) with 3) some 4) every

14- 1) say 2) said 3) saying 4) were saying

15- 1) near 2) was near 3) to be near 4) it was near
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Part C. Reading Comprehension

Directions: Read the following three passages and answer the best choice (1), (2), (3), or

(4).

Then mark it on your answer sheet.

PASSAGE 1:

The name Ali Qapu, (Turkish for "high gate"), was given to the palace as it was right
at the entrance to the Safavid palaces which stretched from the Maidan Nagsh-i-Jahan
(o the Chahar Bagh Boulevard. The building, another wonderful Safavid edifice, was
built by decree of Shah Abbas the Great in the early seventeenth century. It was here
that the great monarch used to entertain noble visitors, and foreign ambassadors. Shah
Abbas, here for the first time celebrated the Now - ruz (New Year's Day) of 1006 AH
/1597 A.D. A large and massive rectangular structure, the Ali Qapu is 48 meters high
and has six floors, fronted with a wide terrace whose ceiling is inlaid and supported
by wooden columns. Ali Qapu is rich in naturalistic wall paintings by Reza Abbassi,
the court painter of Shah Abbas I, and his pupils. There are floral, animal, and bird
motifs. The highly ornamented doors and windows of the palace have almost all been
pillaged at times of social anarchy. Only one window on the third floor has escaped
the ravages of time. Ali Qapu was repaired and restored substantially during the reign
of Shah Sultan Hussein, the last Safavid ruler, but fell into a dreadful state of
dilapidation again during the short reign of invading Afghans. under the Qajar Nasir
al-Din shah's reign (1848-96), the Safavid cornices and floral tiles above the portal
were replaced by tiles bearing inscriptions. Shah Abbas II was enthusiastic about the
embellishment and perfection of Ali Qapu. His chief contribution was given to the
magnificent hall, the constructures on the third floor. The 18 columns of the hall are
covered with mirrors and its ceiling is decorated with great paintings.

Which of the following about Ali Qapu is TRUE according to the passage?
1) It actually ended in the Chahar Bagh. 2) It was a huge four sided structure.

3) It was the largest of all Safavid palaces.

It is stated in the passage that ---- e

1) the floors of Ali Qapu are all fronted by a wide terrace

2) Ali Qapu’s building was often used for the Now-ruz ceremonies

3) monarchs and great nobles had a role in the completion of Ali Qapu

4) the terrace ceiling in front of Ali Qapu is supported by wooden columns

The passage mentions that *

1) Reza Abbasi was court painter to Shah Abbas I and his pupils

2) the last safavid ruler let Ali Qapu fall into a terrible state of repair

3) not much is left of the richly decorated doors and windows of Ali Qapu

4) Ali Qapu was kept in a suitable condition up to Nasir-al-Din Shah’s reign
We may understand from the passage that - :

1) mirrors are used as the main decorative element in the structure of the palace
2) it was not part of the original plan of Ali Qapu to use writing as a mode of decoration

3) shah Abbas IT did much more than Shah Abbas I to perfect the decorative status of Ali Qapu
4) there is a combination of paintings and mirrors used in the decoration of the main hall in Ali Qapu

The word ‘dilapidation’ in line 15 is most closely related to the word
1) “‘construction’ 2) “destruction’ 3) ‘preservation’ 4) ‘regulation’

MMQQUUS)OM)‘WLJ)EQ&W‘S)L"@P?
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PASSAGE 2:

The origin of Persian gardens may date back as far as 4000 BCE; the decorated
pottery of that time displays the typical cross plan of the Persian garden. The outline
of Cyrus the Great' garden, built around 500 BCE, is still viewable today. During the
reign of the Sassanids, and under the influence of Zoroastrianism, the presence of
water in art grew increasingly important. This trend manifested itself in garden design
with greater emphasis placed on fountains and ponds in gardens. During the
occupations by the Arabs the aesthetic aspect of the garden increased in importance,
overtaking the utility of the garden. During this time the aesthetic rules by which the
garden is governed grew in importance. An example of this is the chahar bagh, a
form of garden which attempts to emulate Eden, The design sometimes involves one
axis being longer than the other and the creation of water channels running through
each of the four gardens to connect to a central pool. The invasion of Persia by the
Mongols in the thirteenth century saw a new emphasis on highly ornate structure
within the garden, examples of which include peonies and chrysanthemums. The
Mongol empire then carried on a Persian garden tradition in other parts of their
empire (notably India). Babur introduced the Persian garden to India; the now
unkempt Aram Bagh garden in Agra was the first of many Persian gardens he created.
The Persian concept of an ideal, paradise-like garden is perfectly embodied in the Taj
Mahal. The Safavid Dynasty built and developed grand and epic layouts that went
beyond being a simple extension to a palace and became an integral aesthetic and
functional part of it. In the following centuries European garden design began to
influence Persia, particularly the design of France and secondarily that of Russia and
the United Kingdom.

The passage states that ;
1) the Persian gardens of 4000 BCE often enjoyed a cross plan

2) Cyrus the Great built a viewable garden at around 500 BCE

3) some of the best Persian gardens were designed as early as 4000 BCE

4) the design of the Persian garden has historically been reflected in pottery

It is mentioned in the passage that -- —

1) ancient Zoroastrians used many water images in their gardens

2) the Arabs preferred aspects of utility over features of beauty in garden design

3) fountains and ponds turned into important features of the Sasanid Persian garden

4) the significance of aesthetic rules in garden design was basically governed by Arabs

Which of the following is TRUE according to the passage?

1) There are four gardens surrounded by pools in chahar bagh.

2) In each of the four axes in the chahar bagh there are four gardens.

3) The first Persian gardens in India were developed in the country by Babur.

4) The Mongol’s emphasis on peonies and chrysanthemums popularized the Persian garden in India.
It is NOT stated in the passage that - e

1) the Persian garden was used as a model by European garden designers

2) the Taj Mahal represents one of the best examples of the Persian garden

3) the palace-and its garden in the Safavid period were taken as parts of the same body

4) Aram Bagh in Agra, created by Babur, cannot be considered as a tidy garden today

The word ‘emulate’ in line 10 can be best replaced by ;
1) “follow’ 2) ‘build’ 3) ‘improve’ 4) ‘occur’
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PASSAGE 3:

The origin and history of the Medes is quite obscure, as we possess almost no
contemporary information, and not a single monument or inscription from Media
itself. The story that Ctesias gave a list of nine kings, beginning with Arbaces, who is
said to have destroyed Nineveh in 880s BC, preserved in Diod. ii. 32 sqq. and copied
by many later authors has no historical value whatever; though some of his names
may be derived from local traditions. Josephus relates the Medes to the biblical
character, Madai, son of Japheth. Other ancient historians including Strabo, Ptolemy,
Herodotus, Polybius, and Pliny, mention names such as Mantiane, Martiane, Matiane,
Matiene, to designate the northern part of Media. We can see how the Iranian element
gradually became dominant; princes with Iranian names occasionally occur as rulers
of other tribes. But the Gelae, Tapuri, Cadusii, Amardi, Utii and other tribes in
northern Media and on the shores of the Caspian may not have been Iranian stock.
Polybius, Strabo, and Pliny, considered the Anariaci to be among these tribes; but
their name, meaning the "not-Arians”, is probably a comprehensive designation for a
number of smaller indigenous tribes. The Medes, people of the Mada, appear in
history first in 836 BC. Earliest records show that Assyrian conqueror Shalmaneser III
received tribute from the "Amadai" in connection with wars against the tribes of the
Zagros. His successors undertook many expeditions against the Medes. At this early
stage, the Medes were usually mentioned together with another steppe tribe, the
Scythians, who seem to have been the dominant group. They were divided into many
districts and towns, under petty local chieftains; from the names in the Assyrian
inscriptions, it appears they h_ad-EIready adopted the religion of Zoroaster.

MYV AS) pranazki ol

Which of the following is TRUE according to the passage?

1) Ctesias 1s said to have destroyed Nineveh in 880s BC.

2) There are relatively few inscriptions left to us from Medea.

3) The Medes had a total of nine kings beginning with Arbaces.

4) Madai, a character in the Bible, might have been connected to the Medes.
It is stated in the passage that -- -

1) the princes ruling northern Media did not apparentl}r have Iranian origin
2) the northern part of Media was often called Matiene by ancient historians
3) the Iranian element was dominant in almost all areas of the Median empire
4) the shores of the Caspian were certainly ruled over by the Anariaci tribe
We may understand from the passage that -,

1) the Medes were usually victorious at war

2) the early Medes inhabited the Zagros region

3) the Medes were in fact, part of an Assyrian tribe

4) the fights between the Medes and Assyrians took place in 836 BC

It is implied in the passage that --
1) both Assyrians and the Medes were fnllﬂwers of Zoroaster

2) the Sythians and the Medes lived together in perfect harmony
3) there was little peace in the Mede’s lives in their early history
4) Medes were interested in living apart from the Scythians

The word ‘petty’ in line 21 is closest to - :
1) ‘dominant’ 2) ‘powerful’ 3) ‘short-lived’ 4) ‘small’
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